— qpf /9%0Gevpp o ZHJel
> = I I I I | I I I I | I I I I | [ =
(D) — -
o ~ Filtered Jet Mass(anti-kT(0.7), 2300<p <450, |y|<2.5) ]
H — p—
£ 10° = —
2 — 3
6\ - ]
U — p—
b
S 10 & —
o — 3
o — -
— R _]
1= =
107 - —=
- = cwms _
102 = --3-- Herwig 7.0.3 default —
— —&— Pythia 8.212 default =
o ¢ Sherpa 2.2.8 default ~
107 £ =
B T e L B I R
2 & =
mE =N =
n L 7
> - ]
@) L _
2 1
o |
© | _
x
05 _|
| I L L I (PR R T
0 150

Rivet 3.1.0, = 7.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


